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Q1) A slotted ALOHA network transmits 200-bit frames on a shared channel of 200 kbps, What
is the throughput if the system (all stations together) produces

a. 1000 frames per second b, 500 frames per second c. 250 frames per secod:. CO-

Q2)
e address?

a) What is the hexadecimal equivalent of the following Ethern ; ad
01011010 00010001 01019101 00011000 10101010 00001 1 11 ™

b) If an Ethernet destination address is 07:01:02:035 405, what iisf;thg_--type of the
address (unicast, multicast, or broadcast)? £

¢) The address 43:7B:6C-DE: 10:00 has been sh:d: nas ;he:z'éurce address in an Ethernet
frame. The receiver has discarded the fram Why? "+

Q3) What is the difference between a BSS andan ESS? What is the purpose of the NAV? How
much time in a Bluetooth one-slot frame is used for the hopping mechanism? What about a three-slot
frame and a five-slot frame? o ' CO-6 [5)

Q4) 1) Howisa repeater dlfferent from an ampliﬁer? CO-4 [5]
b) What is a transparent bridge?
¢) How does are eater extend the length of a LAN?

d) How is a hub re}; ted to a repeater?
€) A bridge uses a filtefing table; a router uses a routing table. Can you explain the
difference? .
Q5 An organiiation is granted the block 16.0.0.0/8. The administrator wants to create 500 fixed-
length subnets,” - 5 E CO-5 [9)

a)Find the sitbnet mask.
b) Find the nuniber of addresses in each subnet.
- ¢) Find.the first and last addresses in subnet 1.
e d)Fmd the first and last addresses in subnet 500.
Q6) Compate and contrast the fields in the main headers of IPv4 and 1Pv6. Make a tabie
that showsithe presence or absence of each field, CO-55)

Q7)  Consider a base station transmitter operating at 900 MHz carrier frequency. For a mobile
moving at a speed of 72 Km/hr, calculate the received carrier frequency if the mobile is moving
a) Directly away from the base station transmitter.
b) Directly towards the base station transmitter.
¢) In adirection which is 60 degrees to the direction of arrival of the transmitted signal.
d) In a direction perpendicular to the direction of arrival of the transmitted signal. CO-3 [5]



